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QUESTION 1

Consider a replication setup where a snapshot of the replication status shows: Which statement is true? 

A. The melbourne channel is resolving a GTID conflict. 

B. The sydney channel is keeping up with the received events. 

C. The melbourne channel is keeping up with the received events. 

D. The last event received from the sydney channel was at 2018-05-08 14:55:01. 

E. The replication slave uses multisource replication with eight sources. 

Correct Answer: E 
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QUESTION 2

You want to immediately stop access to a database server for remote user `mike\\'@\\'client.example.com\\'. This user is
currently not connected to the server. 

Which two actions can you take to stop any access from the user? 

A. Use ALTER USER `mike\\'@\\'client.example.com\\' PASSWORD EXPIRE; 

B. Use REVOKE ALL PRIVILEGES FROM `mike\\'@\\'client.example.com\\'; 

C. Execute the mysql_secure_installation command. 

D. Use DROP USER `mike\\'@\\'client.example.com\\'; 

E. Use GRANT USAGE ON *.* TO `mike\\'@\\'client.example.com\\' MAX_USER_CONNECTIONS=0; 

F. Use ALTER USER `mike\\'@\\'client.example.com\\' ACCOUNT LOCK; 

Correct Answer: DE 

 

QUESTION 3

You want to dump only data from the userdata table. 

Which mysqldump command argument is required to accomplish this? 

A. - -no-create-info to skip writing CREATE TABLE statements 

B. - -single-transaction as this obtains a consistent view of data only 

C. - -data-only as this specifies that only data is to be dumped 

D. - -table=userdata in order to dump only the data from the userdata table 

Correct Answer: B 

 

QUESTION 4

What are two benefits of using the --tab option with mysqldump? (Choose two.) 

A. The schema and data are automatically dumped to separate files. 

B. It is possible to restore the data in parallel. 

C. It can be used together with --all-databases. 

D. It can be piped directly into a running server. 

Correct Answer: BC 
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Reference: https://books.google.com.pk/books?id=zWY9DwAAQBAJandpg=PA265andlpg=PA265anddq=it+is +possibl
e+to+restore+the+data+in+parallel.+mysqldumpandsource=blandots=jDXNfTRCeDandsig=ACfU3U3Iok36Kbw6pwL_23
pTk0yibOwBQandhl=enandsa=Xandved=2ahUKEwix8JyF6avpAhVCyhoKHXMCCKAQ6AEwA3
oECAoQAQ#v=onepageandq=it%20is%20possible%20to%20restore%20the%20data%20in%20parallel.%
20mysqldumpandf=false https://dev.mysql.com/doc/refman/8.0/en/mysqldump.html 

 

QUESTION 5

The `applicationdb\\' is using InnoDB and consuming a large amount of file system space. You have a / backup partition
available on NFS where backups are stored. 

You investigate and gather this information: 

Three tables are stored in the InnoDB shared tablespace and the details are as follows: 

The table data_current has 1,000,000 rows. The table data_reports has 1,500,000 rows. The table data_archive has
4,500,000 rows. 

You attempt to free space from ibdata1 by taking a mysqldump of the data_archive table and storing it on your backup
partition. 

Unfortunately, this action does not free any actual disk space back to the file system and the server disk 

space is running out. 

Which set of actions will allow you to free disk space back to the file system? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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